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Simplify. Your answer should contain only pC\sitive exponents,
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Solve each inequality and graph its solution.
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Solve each system.
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Find each product.
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Solve each equation.

39) pP+10=74

Brenda and Ted each improved their vards by planting d;t)}f!i!ies and geraniums. They bought
their supplies from the same store. Brenda spent $73 on 7 daylilies and 3 geraniums. Ted spent
$117 on 3 dayli has and 32 geraniums, Vvhat is the cost of one day! ly and the cost of one

g, !
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45} The senior classes at High School A and High School B planned separate trips to the state fair
The senior class at High Schoof A rented and filled 12 vans and 14 buses with 626 students.
High School B rented and filled 4 vans and 2 buses with 126 students. Each van and each bus
carried the same number of studems How many studcmi can a van carrw‘? How many students

can a bus carry?
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